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Part A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each
sentence. Then mark the correct choice on your answer sheet.

1- He is a woman of ----—----—— who has never abandoned his principles for the sake of making
money.
1) utility 2) integrity 3) treaty 4) acrimony

2- The loud sound of the radiator as it released steam became an increasingly annoying
1) interval 2) perception 3) zenith 4) distraction

3- Jackson’s poor typing skills were a ---ecee-e- to finding employment at the nearby office
complex.
1) hindrance 2) supplement 3) confirmation 4) versatility

4- The judge dismissed the extraneous evidence because it was not ---------- to the trial.
1) obedient 2) treacherous 3) pertinent 4) vulnerable

5- Because biology is such a ----—------ subject, it is subdivided into separate branches for
convenience of study.
1) deficient 2) consistent 3) broad 4) mutual

6- In addition, physicians may have difficulty in deciding that an illness can be ----------
the job. Many industrial diseases mimic sickness from other causes.

1) attributed to 2) precluded from 3) refrained from 4) exposed to
7- Mechanics was one of the most highly developed sciences ---------- in the Middle Ages.
1) extracted 2) persisted 3) resolved 4) pursued
8- In the absence of death from other causes, all members of a population may exist in
their environment until the ---------- of senescence, which will cause a decline in the
ability of individuals to survive.
1) ratio 2) onset 3) core 4) output
9- Before the invention and diffusion of writing, translation was --------- and oral; persons
professionally specializing in such work were called interpreters.
1) subsequent 2) unilateral 3) eventual 4) instantaneous
10-Public attitudes toward business regulation are somewhat ---------- ; most people resent

intrusive government rules, yet they expect government to prevent businesses from
defrauding or endangering them.
1) cogent 2) emotional 3) ambiguous 4) indifferent

Part B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

The variety of successful dietary strategies (11) -=---en--- by traditionally living populations
provides an important perspective on the ongoing debate about how high-protein, low-
carbohydrate regimens such as the Atkins diet compare with (12) ---------- underscore complex
carbohydrates and fat restriction. The fact that both these schemes produce weight loss is not
surprising, (13) ---------- both help people shed pounds through the same basic mechanism:
(14) -=---=---- major sources of calories. When you create an energy deficit —that is, when you
consume fewer calories (15) ----=----- —your body begins burning its fat stores and you lose
weight.

11- 1) employed 2) are employed 3) is employed 4) then employed

12- 1) those that 2) the ones they 3) that which 4) they

13- 1) in fact 2) although 3) likewise 4) because

14- 1) limit 2) limiting 3) which limit 4) with limiting

15- 1) are expended 2) that they are expended

3) than you expend 4) to expend
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PT C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best
choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

Passage 1:

Despite their obvious importance, the classification societies have no legal authority. There is
no requirement for a shipowner to obtain classification, but classification is generally necessary
to obtain insurance, and a ship would have little value without it. The voluntary nature of
classification means that classification societies compete with each other to offer classification
services to shipowners and do so on the value of their rules and their ability to implement them
efficiently. The service they offer today has two fundamental aspects, developing rules and
implementing them.

First, the continuous updating of rules to reflect changes in marine technology. Procedures
vary, but most societies develop their rules through a committee structure, involving experts
from various scientific disciplines and technical activities including naval architect, marine
engineers, underwriters, owners, builders, operators, materials manufacturers, machinery
fabricators and individuals in other related fields. This process takes into account the activities
of IMO and IACS unified requirements.

The second stage involves the application of the rules to practical shipbuilding and shipping.
This is a three-step procedure:

1. A technical plan review. The plans of the ship are submitted to the classification society for
inspection, to ensure that the mechanical structural details in the design of the ship conforms to
the rules. If the plans are found satisfactory they are passed and construction can proceed.
Sometimes modifications are required, or explanations required on certain points.

2. Surveys during construction to verify that the approved plans are implemented, good
workmanship practices are employed and that rules are followed. This includes the testing of
materials and major components such as engines, forgings and boilers.

3. Periodic surveys for the maintenance of class. Merchant ships are required to undergo a
scheme of surveys while in service to verify their acceptability for classification.

The classification procedures for classing existing ships are, in general terms, agreed by
IACS for members and associates. The regulations imposed by Lloyds Register are; hull and
machinery special survey—five years; dry-docking survey—two and half years; hull and
machinery annual survey—one year; tail shaft inspection— five years; boiler survey—two and
half years. The hull and machinery survey is very demanding, involving detailed inspection
and measurement of the hull.

16- A ship is almost worthless without --------- .

1) surveys 2) insurance 3) classification 4) maintenance
17- Why do classification societies compete with each other?

1) to offer better services 2) because of their voluntary nature

3) to develop rules and implement them 4) all of the above
18- Experts from various scientific disciplines are required to ---------- .

1) develop rules 2) apply the rules 3) implement rules 4) none of the above
19- Which step of rules implementation involves the approval of ship's plans?

1) hull surveys 2) periodic surveys

3) construction surveys 4) a technical plan review survey
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20- Which step of rules implementation guaranties the extension of the class?
1) hull surveys 2) periodic surveys
3) construction surveys 4) technical plan review
Passage 2:

The technical efficiency of merchant ships has grown with the technical capability of the
shipbuilder, who constructs the hull, and the marine engineering industry which supplies
machinery and equipment. Modern shipping started in the 1860s when shipbuilders were first
able to build a commercially viable iron hulled steamship. More efficient compound steam
engines permitted long voyages and the iron hulls were more consistently watertight than their
wooden predecessors.

For the first time shipping became a business that could be planned and run to a timetable.
Between 1880 and 1914 the steamers drove out the sailing ships. It was a hard fought battle
spread over thirty years, with steamers forcing the sailing ships to the secondary routes and
finally to the scrapyard. There were other technical changes along the way, though none so
fundamental. The first deep sea dieselpowered ship, the Selandia went into service in 1912 and
over the next fifty years the diesel engine replaced the steam engine, except in the largest ships.
Welding started to replace rivets in hull construction and automation halved the number of
crew required to man a deep sea vessel.

More recently the improvements, though less dramatic, have been equally real. Hatch designs,
cargo handling gear, and navigation equipment all improved in efficiency. During the 1980s
the fuel efficiency of diesel engines increased by 25 per cent. Shipbuilders became more adept
at fine tuning hull designs, with the result that for some ship types the tonnage of steel was
reduced by 30 per cent; hull paints improved to give better smoothness for the submerged hull
and improved longevity for tank coatings.

21- What was the driving force behind effectiveness of merchant ships?
1) marine engineering industry
2) technical capability of shipyards
3) improvements in hull and engine designs
4) technical capability of shipyards and marine engineering industry
22- Longer voyages were the result of -------- .

1) introduction of iron hulls 2) improvement in hull design

3) introduction of steam engines 4) having consistently watertight hulls
23- What did the steamers fundamentally do with sailing ships during 1880 to 1914?

1) drove them out 2) compelled them to scrapyard

3) forced them to the secondary routes 4) all of the above

24- What happened to the largest ships since 1912 and the next 50 years?
1) they still had sails
2) they still had steam engines
3) they became dieselpowered
4) their steam engines were replaced with diesel engines
25- What was the main achievement in hull design?
1) replacing rivets with welding 2) reducing the tonnage of still by 30%
3) better smoothness of the submerged hull ~ 4) all of the above
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Passage 3:

The companies in the transport system operate in a market governed by a mix of competition
and co-operation. In many trades the competitive element is obvious. Rail competes with road;
short sea shipping with road and rail; and deep sea shipping with air freight for higher value
cargo. However, a few examples show that the scope of competition is much wider than
appears possible at first sight. For example over the last fifty years bulk carriers trading in the
deep sea trades have been in cut-throat competition with the railways. How is this possible?
The answer is that users of raw materials such as power stations and steel mills often face a
choice between use of domestic and imported raw materials. Thus, a power station at
Jacksonville in Florida can import coal from Virginia by rail or from Columbia by sea. Where
transport accounts for a large proportion of the delivered cost, there is intense competition.
Cost is not the only factor, as shown by the seasonal trade in perishable goods such as
raspberries and asparagus. These products travel as air freight, because the journey by
refrigerated ship is too slow to allow delivery in primz condition. However, the shipping
industry has tried to recapture that cargo by develop.ng refrigerated containers with a
controlled atmosphere which prevents deterioration, thus permitting them to compete for this
cargo.

Although the different sectors of the transport business arz fiercely competitive, technical
development depends upon close cooperation. Indeed the development of Integrated Transport
Systems in which each component in the transport system is designed to fit in with the others
has been one of the dominant themes of international transport in the last 20 years. There are
many examples of this cooperation. Much of the world's grain trade is handled by a carefully
controlled system of barges, rail trucks and deep sea ships. The modal points in the system are
highly automated grain elevators which receive grain from one transport mode, store it
temporarily and ship it out in another. Similarly, coal may be loaded in Columbia or Australia,
shipped by sea in a large bulk carrier to Rotterdam, and distributed by a small short sea vessel
to the final consumer. The containerisation of general cargo is built around standard containers
which can be carried by road, rail or sea with equal facility. Often road transport companies are
owned by railways and vice versa. The driving force which guides the efforts of the transport
system is the quest to win more business by providing cheaper transport and a better service.

26- What is the most important reason for competition in transport system?
1) delivered cost 2) higher value cargo
3) raw materials for steel mills 4) raw materials for power stations
27-What is the major factor for competition in shipping industry over the carriage of
perishable products?

1) perishable nature 2) seasonal trade

3) development of refrigerated containers 4) carriage of these products as air freight
28- A transport system which is designed to fit in with the others is referred to as ------- .

1) integrated transport systems 2) international transport

3) transport business 4) fierce competition
29- How are most of the world's bulk cargoes being handled?

1) by barges 2) by railway 3) by maritime mode 4) all of the above
30- What is the driving force that guides the efforts of the transport system?

1) provision of better services 2) provision of cheaper services

3) securing and attracting more customers 4) none of the above
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